Efficiency vs P,

70.07
o
9.009
>
2.008
@
2.007
(4]
0.006
0.005
0.004
0.003
0.002
0.001
0

Ratio
=

107 1 10 prT (Ge\})o3

—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2
—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL4

[y

o
©
(5]
o[
I
N
I
N
=
N
w

TP n

Efficiency vs ¢

0.0
2]
.009
(&)
9.008
‘©
§9.007
(]
0.006
0.005
0.004
0.003
0.002k;
0.001ff

................................................

................................................

!JJJJ!JJJJ{JJJJ{!J!J{J!J!{!!!!{!!!!

i
T

LR

—

4

i
* .

Ne)
T

Ratio

TP @



	Contents
	Page 1


